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State Eligibility Test - 2018
(Model Answer Key)
General Awareness/Teaching & Research Aptitude

Shift - 1

Q1 : In teacher’s adjustment the main role lies with:

S & FARS & el H § AT AP IR el &

The Students

faemaft

~

The Community

HACH

S

The Teacher himself

o faeTs

The Principal

D';N]THTﬂTZ‘i'

Answer Key: C

Q2 : Which of the following is not a product of learning?

F T 7 @ Flaar @@ & aRenA J& 82

Skills

IGEMGI

S

Attitude

HfAgfar

C

Maturation

gRaeradr

Knowledge

D

ATl

Answer Key: C




Q3 : Verbal guidance is least effective in the learning of:

e Féa T & O a1 figs J ga8 7 THEme &

Attitudes

fAgia

C

Concepts

Haheqall

Facts

azxg

D

Skills

GG

S

Answer Key: D

Q4 : Differences in ‘Learning style’ among learners may be attributed to:

fRrenfay #F 3rfeerr doft & 3R & [T FROT & Foha &

Socialization process of learner

freTreft & gETSeoT ufshar

Economic conditions of the family

aRar 1 e feafa

Thinking strategies adopted by learner

feamedf ganr 9= 9 Ae-faans i Aererd

D

Parenting of the child

ST T oTeld-UTolod

Answer Key: C

QS5 : The technique of measurements of the patterns of social behavior in a group is known as:

frdt T 7 arAfoe cgagR & T Y AU A dhellsh Fgellcl & -

Sociometry

gATSIAY

Interaction analysis

3FedTehaT fageryor

Social distance scale

FrHASS 37T ATTAT




Sociogram

Y —

Answer Key: A

Q6 : As ateacher, if a student fails to answer in your class, what will be your reaction?

g 3T et g 31 3mudhr Felm F U ST 3 AT ¢ urarn, ar 39 =1 gfafsar
grafr?

Ask him/her to sit down

3HFT A3 FY FgIT

Ask other student to answer

R 3T DI & 3T & F Fedr

Punish him/her

3HHT &8 T

Try to encourage him/her

N

Answer Key: D

Q7 : Assessment conducted after instruction to evaluate students final achievements is termed as:

fgeoed ot & AR 3udfsy & FFaied FAediws I Fgl AT &

Norm referenced assessment

TcHS HGH Hodiahe

Summative assessment

AaTcHeh Hodlehed

Performance assessment

fersuTesT Hearehe

Informal assessment

D .
Ieitoreren Hediehet

Answer Key: B

Q8 : Hypothesis is:
afReede &:

A thoughtful statement




A | Bereraes HUT

A temporary solution

ITTCYRY AT

A declarative statement

OIYUTTcHS el

All of these

D
Ty gar

Answer Key: D

Q9 : Justifiable scientific list of all cited studies is called:

THEA 3T IEYYe! Y AT defeieh G T e o -

Index

37AHAOIHRT

S

Bibliography

Q& Hefoh

Reference

st el

New book reference

D

oId e el

Answer Key: C

Q10 : What type of research includes surveys and fact finding enquiries of different kinds?

Hiady ey gdeTor U9 T2 Wi AT ST YhR g7

Analytical

ICECRIRED

Fundamental

Heldd

N N

Descriptive

IEEEGIRAED

Empirical

D

agraqaw

Answer Key: C




Q11 : Which of the following is critical feature of empirical research?

o1 & @ i@ 3srarcHe M HT HAgeaol Teh §?

Research which is related to some abstract idea or theory

e St 6 3197 faa @ Riguia & dafa &

Research aims at finding a solution for an immediate problem facing a society

MET S AR FHET T ST I §C TATAT FT FA goell &

Research which is verified by observation or experiment

eMer S fo rarelienet AT 3THUT & FeATAT el §

Research which is concerned with subjective assessment

Pl ater 3 et st w0 3R &

Answer Key: C

Q12 : Cross sectional collection of data for proper analysis and logical collection of data of intensive
character is known as:

gusT e & fav Afay gt & teld T5e T GHFT &7 difches THTAFIOT Hgolldl
g

Case study

gcodT 3TeqeT

Focused interview

hized A&l

Opinionnaire

TIARY

Survey

Dm‘aﬂw

Answer Key: A

Passage:
Read the passage carefully and answer the two
questions given below:




Passage Hindi:
RS @l CAEqaed Tied T i fGU v &y weat & 3o T

Q13 India is dedicated to institutions with freedom and principles of democracy. We are striving to give

everyone an opportunity and raise the standard of living for all. Democracy is one where people have
the right to live their own lives and develop themselves in their own way under the guidance of their
chosen representative. If the political democracy is to succeed, it is essential that it be buttressed by
step towards economic equality or what has been referred to as the socialistic pattern of society.
Poverty and unemployment hold the biggest threat to the successful working of democratic system:

In a democratic system:

HRAT diohded Taded Geam3it 3R Rgurdr & 9fa @@fa § | &7 a9 AT 3aW
UCTe el T 3R Sl T 381 & folT YA X 3§ & | hded & 8 Ifad 319=r
TG HT SfaeT I AR AT oA Hl IR @A § IR 30 ggRT gA g
FAUTAATRAT & [AEAT F 379ar v F:ar g1 Ife Taifas diehded I A% 8lT &
ar Ig TS ¢ b ag e FAEAr T 3R IR & AT AT & ARG T Sl
3R | elerdifeas qeufd & Thadqds Faeadst 7 alier 3R Sl ged a3 aren
gl

Mehdlfeddh cTITAT H;

People do not have political freedom

N e s @S Crer A A
Government serve the people
B i e A s gl
The government is run by the people through representatives
¢ &R FHI FATAA STl GaRT el GfAfAfedt & AEIA & g g
b Commodities are treaty bought and sold

aE] #Y IR AT & I g

Answer Key: C

Q14 : India is dedicated to institutions with freedom and principles of democracy. We are striving to give

everyone an opportunity and raise the standard of living for all. Democracy is one where people
have the right to live their own lives and develop themselves in their own way under the guidance of
their chosen representative. If the political democracy is to succeed. It is essential that it be
buttressed by step towards economic equality or what has been referred to as the socialistic pattern
of society. Poverty and unemployment hold the biggest threat to the successful working of
democratic system:

Democracy can fail if there is:




HARART diehded Tades Gt 3R fagurdr & 9fad FAfa & | g7 Fah! AR 3G
UCTeT el JUT 3oTehT Siide] T 331 & o0 U &R @ & | dllhded & & afdd
IYAT TG FT SIdel el HAAR Tclid He FT IDAR I@AT § 3R 39 @R ged gv
FAufafaRar & A& 7 39T A Far g1 Ifg Toeiiae dldhded dl T%e 8l ¢
ar Ig HaeTSF ¢ b ag 3 AT T 3R IR & AT AT & ARG ¥ i
AR | dihdifeas deufd & Thadids fhaeadsT # IR 3R S Ja8 a8 aren
gl

Alehdd 31w & ohdT & Ife 8

Opportunity for development

YT &1 39T &

Economic equality

3nfde AT 8

A weak government

FHAAR TSR gl

Social justice

Dﬂmﬁmmg’r

Answer Key: B

Q15 : Grape wine is:
AT IS &

Informal communication network

3ATaTRe YT dod

Formal communication network

3R FFIYOT de

Verbal barrier

A et

Inadequate information

D
HuATeT =T

Answer Key: A

Q16 : The flow of information from boss to subordinate is:

HUBRT A AT FIAT & JaTg Y Fgal:




Downward communication

3T JOR

Upward communication

39T FiT IR gOR

Vertical communication

TFEad TAR

Formal communication

Dsﬂtﬁrma'?mr

Answer Key: A

Q17 : Which of the following acts as filters in the process of communication?

ST W loIdr TAR IfhaT IRSHOT S gt

Culture

TR

C

Emotions

HATIAT

Experiences

R G
9

All of these

Plast oo

Answer Key: D

Q18: 12:20::18:7?
12:20::18:7?

15

15

30

30

35

35

42

D

42

Answer Key: B




Q19 : Which is the number that will come next in the following sequence?
9,8,8,8,7,8,6
T gl s{@er 7 3rerel HEar Sl §?
9,8,8,8,7,8,6
5
A
5
6
B
6
8
C
8
4
D
4

Answer Key: C

Q20 : Direction: All the six members of a family A,B,C,D,E & F are travelling together. B is son of C but

C is not the mother of B. A and C are married couple. E is the brother of C. D is the daughter of A.
F is the brother of B.

How is E related to D?
féer: v aRaN & ©: HeEg U, €L W, S, 3 U UB Ueh HIY YA W gl o S g @ A
e &, & Fr AT FE 1 T AR W e ST ¥ s S F W A | FAd & v
TH H1S § & &7 |

T &P 3 T FIT Joaed g?

Father

frar

Brother

HIAT

Uncle

kol

D

None of these

$TH A PG ACH

Answer Key: C

Q21 : Direction: All the six members of a family A,B,C,D,E & F are travelling together. B is son of C but

C is not the mother of B. A and C are married couple. E is the brother of C. D is the daughter of A.




F is the brother of B.

How many children does A have?

fder v IRaR & ©: HeEg T, AL 3,3 U9 UF UF O gA I &l o g1 § Ao #
g oY, & i AT A ¥l w3 W amdzper Ser ¥ 3 oS § W oA | & A& § U
TH 37TS & & &7 |

T & fohdet s § 2
A
B
Three
C
D

Answer Key: C

Q22 : Directions- In the question below,two statements are given followed by four conclusions numbered

LILIIT and IV. You have to take the two given statements to be true even if they seem to be at
variance from commonly known facts.

Read all the conclusions and then decide which of the given conclusions logically follows from the
two given statements, disregrading commonly known facts.

Statements:
(A) All typists are Stenographers
(B) Some Stenographers are boys

Conclusion:

(D All boys are Stenographers
(I) All boys are typists

(IIT) Some typists are boys
(IV) No typist is a boy

fader- S U T get & aF F«7 g IR aRomaA F&ar LILI 3R vV & T G av g
YT &7 T FYA ol g dIg T AT a2g &H|

gt afyoma g gur fauiia s slaar f&ar smr aoma fGe oo sifaws ammeg gt
H ¥ a6 TGIT g

EXIr N
(A) T TiEfee AR &

(B) $& EAIH oI5 ¢




gRoTe:

) g3l oI5 EEAITHT B
(In) T8l of5eh Trsfuee §
() T TSRTT oI5 ¢
(V) T8 & FIg gl

Only (Dfollows

dael (1)

Only (IT) and (III) follows

haol (1) TF (I1D)

Only either (IT) or (IIT) follows

shdel (I1) 37aT (I10)

D

None of these

ST A IS AT

Answer Key: D

Q23 : Directions- In question below, two statements are given followed by four conclusions numbered

LILIIT and IV .You have to take the two given statements to be true even if they seem to be at
variance from commonly known facts.

Read all the conclusions and then decide which of the given conclusions logically follows from the
two given statements, disregrading commonly known facts.

Statements:
(A) teachers are students
(B) All students are girls

Conclusion:

(DAII teachers are girls

(IT) Some girls are teachers
(IIT)Some girls are students
(IV) All students are teachers

fger- s QU aTT vesT & & &¥aT § IR IROMA T&IT LILII AR IV & I & 1w g
YR & T FUA o § Ie J AT a2T W@

s g U Jur FUIRa Y wlaar G = aReme Ru av favy ameeg azar
H QI T T g

hYod:

(A) FT e gz &

(B) Tafr facamrdt asforar g

gRomer
@ Tt e JsfRar gl




(I) & 3719 Fsfhal g
) Fo wsfrar e §
(1v) F8fr faeardt 3reamde g

Only (I) follows

Sadl (I)

Only (II) follows

Sad (1)

All follows

asir

D

None follows

IS

CHl

Answer Key: B

Q24 : Direction: The following diagrams P,Q,R,S and T are explained by group of three words and

represented in four options. Which option is not represented in diagram?

e U TN

Q) (@) (00

® S A ®)

//—‘\ \ //‘_\
QO (©o

() M




fder. S gefv aiv 7 PQRS 3R T&H i ereal & T & IR Aot # wafda
forar T §1 HlaT fweT T ¥ yeiia =87 ganr

/\/ g
O @ gele
ek N
®) L 1 ¢) ®)
7 o
( 4 e
Q_O ©@o
(S) @
Hen, dog, cat
* |t g e
Tiger, animal, elephant
B e, agy, gredr
Animal, dog, cat
¢ ag, Fell, feell

Bed, ward, nurse

b qoidT, ars, A4

Answer Key: A

Q25 : Direction: The following diagrams P,Q,R,S and T are explained by group of three words and
represented in four options. Which option is not represented in diagram?

O P /

L L () ®)

() €]




fder S gefv aiv 7 PQRS 3R T&H i ereal & T & IR Aot # wafda

forar T 1 Haar [ehed T A USiT =87 g an
VN

(D))

S e o
NS

/-‘—\.

WeYe >
koA i

\__‘/'/

®)

®)
/,/— ‘\\/_\ i
::D\\e/gi/) O/) C)

) €]

Colour, red, blue

33T, o7, aiell

Colour, cloth,merchant

33T, HYET, SITIRT

Animal, mammal, Cow

qY, TATURY, I

Male, horse, man

D
X, GYST, 3eHT

Answer Key: B

Q26 : If'ABOVE!'is coded as 'CAQUG' then how BELOW' will be coded in the same system?

I 'ABOVE' & 'CAQUG' ¥ Hahdel T STar § ar 38T ufshar & 'BELOW' &1 $d

Hohdd foram SRem?

DCNMY

DCNMY

DDMNY

DDMNY

DDNMY

DDNMY

DDNNY

D
DDNNY

Answer Key: D




Q27 : Instruction: Study the following table carefully and answer the question:

(Maximum Marks) 100 100 150 150 100 100

Students/Subjects History Geography | Math's | Science | English Hindi

A 80 85 89 79 69 76
B 74 79 92 84 72 67
C 86 65 76 82 82 87
D 69 72 62 90 78 68
E 64 64 75 86 65 62
F 76 82 95 78 60 73

What is the overall percentage of marks obtained by ‘A’ in all the subjects together?
(Rounded off to two digits after decimal)

fger. et arforeT @1 eaeqa® U¢ T W & ek o

(3tfpas 3i) 100 100 150 150 100 100

oF Ay | e | see | Wi | @ae | 3T | Redr

o

A 80 85 89 79 69 76
B 74 79 92 84 72 67
C 86 65 76 82 82 87
D 69 72 62 90 78 68
E 64 64 75 86 65 62
F 76 82 95 78 60 73

A TarT Jfoia @l vt & 3ifa ufaerd 3w forder &2

80.55

80.55

68.28

68.28

79.67

79.67

None of these

Pl & ms o

Answer Key: B




Q28 : Instruction: Study the following table carefully and answer the question:

| (Maximum Marks) | 100 ‘ 100 | 150 | 150 | 100 | 100
Students/Subjects History Geography | Math's | Science | English Hindi
A 80 85 89 79 69 76

B 74 79 92 84 72 67

C 86 65 76 82 82 87

D 69 72 62 90 78 68

E 64 64 75 86 65 62

F 76 82 95 78 60 73

What are the average marks obtained by the six students in Geography?

fger. et arforeT @1 eaeqa® U¢ Ta TR & ek o

| (31fOmae 37) | 100 | 100 ‘ 150 | 150 | 100 | 100
o [fawg sfagra s aftla | faae | ek | R
A 80 85 89 79 69 76
B 74 79 92 84 72 67
C 86 65 76 82 82 87
D 69 72 62 90 78 68
E 64 64 75 86 65 62
F 76 82 95 78 60 73

e o 7 o et ganr sifeia st 3t a=ar &

74.5

74.5

75.4

75.4

59.6

59.6

D

None of these

ST FIS G

Answer Key: A

Q29 : Instruction: Study the following table carefully and answer the question:

‘ (Maximum Marks) | 100 ‘ 100 | 150 | 150 | 100 | 100 ‘
Students/Subjects History Geography | Math's | Science | English Hindi
A 80 85 89 79 69 76
B 74 79 92 84 72 67
C 86 65 76 82 82 87
D 69 72 62 90 78 68
E 64 64 75 86 65 62
F 76 82 95 78 60 73




What is the average percentage of marks obtained by all the students in maths?

fager: e Ao &1 eeIqds 9 T U & 3cck o

| (3if8rwas 37 | 100 | 100 ’ 150 | 150 l 100 | 100 |
o v sfdera spatter aforg | fae | ek | R
A 80 85 89 79 69 76
B 74 79 92 84 72 67
¢ 86 65 76 82 82 87
D 69 72 62 90 78 68
E 64 64 75 86 65 62
F 76 82 95 78 60 73

gl Refdat & aiftig Ry & 3f5a iaa gfawa 3 #2182

54.33

54.33

81.5

81.5

74.5

74.5

None of these

D

$IH § FIS A

Answer Key: A

Q30:
125
®
3
> 100
£
) 75
Qo
< 50
25

0 10 20 30 40 50
Class Interval
See the following histogram and answer the question

In which two class intervals, the ratio of age is 15:10




T 3 T & /I 3R 92T &7 3cax o

125

100
B 75
B s
25

0 10 20 30 40 50
el 3icRIcT

foheT & FaT 3TeaTell &Y 37 &7 Juid 15:10 &2

0-10 and 40-50

0-10 TF 40-50

10-20 and 40-50

10-20 TG 40-50

20-30 and 10-20

20-30 Td 10-20

30-40 and 10-20

D .
30-40 U9 10-20

Answer Key: B

Q31:

125

100
75
50

25

Age in years

0 10 20 30 40 50

Class Interval
See the following histogram and answer the question

Which of the two class intervals have maximum difference in age?




et 3ad R @ &f@d 3 gt &1 3cax o

125

% 100
75

%; 50
25

0 10 20 30 40 50
aef 3R

foreT a1 FeT-3eeRTell 7 37 & JfUFdaA TR &2

40-50 and 20-30

40-50 TG 20-30

30-40 and 40-50

30-40 TF 40-50

0-10 and 30-40

0-10 TF 30-40

D

0-10 and 20-30

0-10 TF 20-30

Answer Key: D

Q32 : Webclient is called:

qe FATSE' DAl &

Web server

g TR

Web browser

CERCIRISE

Both (Web server) and (Web browser)

d9 HAX JUTAT 3R, ardAr

D

None of these

$TH A IS ACH

Answer Key: B




Q33 : "http://www.examination.com", is the example of:

"http://www.examination.com", 3GTgUI %’

URL

g IR TS

HTML

g & UH T

AML

T TH Tel

LAN

Dlaa

Answer Key: A

Q34 : How can font size be changed?
Hlee PR fhash ATEIH A d&al ST Fohdl 87

Insert menu

godT Ao

Tools menu

T A

N P

Format menu

PE A

Edit menu

D

T A

Answer Key: A

Q35 : Which of the following enables us to send the same letter to different persons in MS word?
ffaf@a & aala g v & 93 & MS Word # e cafaaal & dos & g#d
AT &7

Mail join

AT S

Mail copy

AT AT




Mail insert

Aol S0

Mail merge

o[-

Answer Key: D

Q36 : Read the following statements-
LInformation and communication technology is considered to be a subset of information
technology.
IL.The right to use' a piece of software is termed as copyright.

Aafaf@a st F eI O 9
(D) Gl T FaR eI 7 Faar e &1 30 FFwag AW S §
(1) IFea} & Y off BEY & 39T & 31fHR Y HidY ST T ST gl

Both I and II are correct

()T (ID) ST |eT &

Neither I nor II is correct

o dar (DT aran e g

Only Il is correct

(1) haeT T &

Only L is correct

Déﬁﬂ(w?r%

Answer Key: B

Q37 : A personal computer uses a number of chips mounted on a circuit board, is called:

Uq RPN ey & I Ffdhe 915 X §gd IR Rew o g1d & 38 Fed &

Microprocessor

CIEEZINIREN

System board

Bew a5

Motherboard

HeIds

None of these

$TH PG AEH




Answer Key: C

Q38 : SQL Stands for:
SQL Hfaled ®9&:

Structured Query Language

TCHTIS FAT oledel

Simple query language

faFger F33 daaat

Both (Structured Query Language) and (Simple query language

Tehas FAU deael aur Rega F das gt

Neither (Structured Query Language) nor (Simple query language)

D

o ar TgHhs FAY oIder o & R{ege F3 ol

Answer Key: A

Q39 : Which of the following is most stable eco-system?

STH W hierar [EA st FAEeH g2

Ocean

HETAR

Desert

IRrEaTT

Forest

STl

Mountain

Plasa

Answer Key: A

Q40 : Who developed the ‘hot spot concept’ in 1988?
gic TAIC Fedce H 9w 1988 H fhasr foram?

M.S.Swaminathan

UH. U QAT

P.K.Iyengar

dr. &. IRPR




Norman myres

ARHT AW

George bush

D
snérg%r

Answer Key: C

Q41 : Which of the following gasses contribute to the ‘Green House Effect’?

T & @ Flaar @ AN g7 Fo0a & A9 o §

Ammonia and Ozone

A s v s
Carbon mono oxide and sulpher di-oxide

B I AAFISS Td ol 318 iTFarss
Carbon terafluoride and nitrous oxide

¢ FIeT CUAFARISS TG ATScH TFASS
Carbon Di-oxide and methane

P st = siteees v Ao

Answer Key: D

Q42 : Which of the following statements about radioactive pollution are correct?

(1)It causes genetic changes in animals

(i1)It causes imbalance among different minerals in soil
(iii)It hinders blood circulation

(iv)It causes cancer

Choose the correct code:

@ & @ @laar th FHyeT sAeiFea dguor & v & @l &2
()TE YT & i Feolld 3cheal HIl ©

(iyFfrer & fafatr @iast & e Schesl AT ©

(ii))TE TFd TTUT I HTTEY X &l &

(iv)TE $HET HTHROT &

TEl FHe HT T HIAT:

(1) and (i)

(i) 3R (i)

(i) and (iv)

(i) AR (iv)




(1), (iii) and (iv)

@), (iii) 3 (iv)

(i1), (iii) and (iv)

D
(i), (iii) 3 (iv)

Answer Key: B

Q43 : Bio-diversity forms the basis for human existence in the following ways:
1.Soil formation
2.Prevention of soil erosion
3.Re-cycling of waste
4.Pollination of crops
Select the correct code given below:

Sta ffaydr Frfafad measl & Awg-3ifded &1 MUR &= &3 &
1 7T AT

2 FET R I AHATH

3 JTYTRISC T YoreishoT

4 FEI G107

Ll He HT T HITAT:

1,2 and 3 only

1,2 3R 3%aa

2,3 and 4 only

2,3 3R 4 Fad

1and 4

13} 4

1,2,3and 4

D
1,2,33R 4

Answer Key: D

Q44 : Which of the national park is unique in being a swamp with floating vegetation that supports a rich
bio-diversity?

AFATITEd # @ Flaar T TSET 3¢ SAIAT 3e[aT ¢ b 9§ Ueh Told AT qofe& Ui
¥ JF 3T gl & FROT FHEY oid fafaerar v serar <ar &2

Bhitar kanika national park

HIeR 01T TS e

Keibul lamjao national park




B | hsqel FHSIIN TSI 3T

Kevala deo Ghana national park

FAAGT AT TS 3T

None of these

Dl & s gl

Answer Key: B

Q45 : Whic of the following was formed by U.G.C in 1969?
1969 7 ZM.d. o et & F fhaehr Agfad

Administration of universities

faeafaearery gemesT

Administration of colleges

Flolal TATHT

Administrative Legislation for universities and colleges

fareafaezre Rk Fres & fov Ifr AT gemae |

None of these

D

3T ¥ IS AL

Answer Key: C

Q46 : 'Complex of colleges'is called:

PIFTIFT 3iTH Siclel P Fed &

Fedral university

e faeafacarer

Unitary university

LG SUEREICERIER

Central university

Feara faeafdearer

State university

D
T ) faRafdearey

Answer Key: A

The abbreviation 'SCOVE' stands for-




Q47 : 'SCOVE feafacarea &1 df@fcaaor &ar 82

Standing committee of vocational education

N A F A o

Supreme court ordinance on vocational employment

gNA I MM 3T dreheleiel TrTeigde

State Committee on vocational education

T DA 3Tl AhelTel Tsgehelel

State council of virtual education

D

T HI3ael HIh TN ToThAeT

Answer Key: A

Q48 : Saakshar Bharat awards are given for outstanding contribution in which field?

HIER AR TEAT oA # & fhd &7 # 30670 Iee & fav Gd sid &2

Literature

Sl

Literacy programme

JTERAT AT

Sports

g

Research

Dafr*zr

Answer Key: B

Q49 : Universal Declaration of human rights was adopted on:

AT SR aasif@s awor s s o

10™ Dec 1947

10 fG@FaR 1947

10" Dec 1948

10 REFIT 1948

10" Dec 1949

10 fegFaT 1949




10 Dec 1950

D
10 fgEFsT 1950

Answer Key: B

QS50 : 'The global education monitoring report 2017/18 accountability in education: meeting our
commitments', is published by:

Tellelel TSIohelel Al AT Rfe 2017/18 TehISeefaTelel goT Uspherel: HIfEaT 3Tax
HiACHTH & ThIAS &

UNDP

g, T, SO

UNESCO

AR

9

UNAIDS

g, U T S S uH

UNO

D

g, T, 3

Answer Key: B




